
Spiel 1 Spiel 2 Gesamt

Spiel 101 11:32 C 1 Hintersteiner Josefa 34 + 43 = 77

C 2 Rathgeb Theresia 43 + 52 = 95

Spiel 102 11:38 C 3 Aschauer Franz 50 + 50 = 100

C 4 Ramharter Kurt 33 + 45 = 78

Spiel 103 11:46 C 3 Aschauer Franz 52 + 46 = 98

C 1 Hintersteiner Josefa 39 + 37 = 76

Spiel 104 11:53 C 2 Rathgeb Theresia 51 + 35 = 86

C 4 Ramharter Kurt 34 + 30 = 64

Spiel 105 11:59 C 4 Ramharter Kurt 45 + 47 = 92

C 1 Hintersteiner Josefa 40 + 35 = 75

Spiel 106 12:05 C 2 Rathgeb Theresia 46 + 45 = 91

C 3 Aschauer Franz 50 + 61 = 111


